PMITA  6fR~4R AFT

JL—Ib
"ARIKN2HT I TEAF UL D,
B)1x1=r01) 3x2=06] 5X0=I00]
MR EUVDHEIE IRV ZITLERLEL D,
BN123X45=T3H7IXT2H7172D T, 3+2TI5HTB (1 ADALD) 1IN SETEZEIEH D

F<HDEFMHE
1 §6 x 774 = 1| &/7 X /& =
2| 746 x 43 = 2 S4 x 370 =
3 SL X L7/ = 3| 706 X L5 =
4 5/ x 306 = 4 S5 x 708 =
5| 70& X L7 = 51 J0«L X /Y=
6 7L X 450 = 6 7L X 703 =
7| 4852 X 4L = [ VART P S 65 =
8 /E X 4T = 8 58 X 4/2 =
9| 06 x S = 9| LS X 5/ =
10 67 X 308 = 10 /b X 0L =

OIREIERR T D& 4RI TEIM~BRUDBHDEETRUE X3 THHKET Sx




PMITA  6fR~48 APl CFRZ

JL—Ib
"ARIKN2HT I TEAF UL D,
B)1x1=r01) 3x2=06] 5X0=I00]
MR EUVDHEIE IRV ZITLERLEL D,
BN123X45=T3H7IXT2H7172D T, 3+2TI5HTB (1 ADALD) 1IN SETEZEIEH D

F<HDEFMHE
1 §6 x 774 = 8. LEY 1l &/7 X /& = /3. 04
2| 746 x 73 = 40,6768 2 S4 x 370 = /7,780
3 SL X L7/ = 8,672 3| 706 X L5 = LL,650
4 5/ x 306 = /5,606 4 S5 x 708 = L4780
5| 70& X L7 = L0535 51 J0«L X /Y= Y.dLE
6 7L X 450 = SL4L00 6 7L X 703 = 4,676
7| 4852 X 4L = LO. L4 [ VART P S 65 = /0,070
8 /E X 4T = 5,866 8 58 X 4/2 = L3.57 6
9| 06 x 5 = 47,7/ L 9| LS X 5/ = 42,078
10 67 X 308 = L/ LEL 10 /6 X 0L = /L2532

OIREIERR T D& 4RI TEIM~BRUDBHDEETRUE X3 THHKET Sx




